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1. of1= faameff (1, 1 G2 1) IR AP gRT B
RUT g & HIYA &1 W6 A9 a=d &1 3
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TS i 37AAT fUa-f0F qia] &1 IHYT die &ed

&l 9 Jeor difeier § corfv v €1 aETe &l

ITdHIB = 0.1 T, IHI BT IdHIP = 0.1 AHUS

ward (AW w=m () w4 JFHL)
I 64.0 8 128.0 16.0
11 64.0 4 64.0 16.0
I 20.0 4 36.0 9.0

gfe; faermelf 1, 11 d2m 11 gRT W& # g8 ufderd Jfedi

U E1, Err a1 Err &, a9

A Er=20
B. By =gAcH gt
C.Er = Eyr

D. EHBJTQWHW
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Answer: B

O dfa &

2. TP d9 Bl I U afR Hadvd I f5Td &g
I qfe AL &, AT ST &1 IE IR ATl ¢ B
gfHR 99 &1 9T 510 IH a7 515 AH & o9
%] 9AT W URT ST @1 3R 99 & 50 9T
245 A & qed &1 IR THM &1 2431 UPT A
T 3 faselt 9T & S FUTell 81 Sl BT AR & -

A. 5112 9H
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B. 5124 I}

C. 5.136 9H!

D. 5148 It

Answer: C

O dfd &

3. U R AT & 30 oW Wig dTcih Sl ol

TS H U AR &RT | 98 &I 81 84 defd &I 2R
351 Y 39 aRATIHRT & 373 FHIT 39T -1 g

29 URAIfeIR B n olUe Ufd Spbls el | & d Uh
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R &RT | 81 U fag P & oo i 9wiel ¥ @@ W
g, P-4 f () Y2 T & (8)?
AO <7 < RH JEHT T YT TE &
B.R < r < 2R H, JrhIg & oI feem Famal
I faen H &
CR< r <2RH JH &7 B S qa &
RN & oIt g el W 8

D.r > 2R T eI & T e &

Answer: C

O dfa &
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1. U B A u-v fafd A 31adel gUuT Bl i g3l

AP &1 TAPT fBaTl waeT § 39geT fhd -
379 de GUUT &bl Thidha g3l 24 cm T Yab1ei o9 bl
oreTe 1.5 m | vfafors & RRAafa & Reior & g3
fABAH e 0.2 cm & HBdl &1 B gRI [l -
(uv) & 9T HH (cm H) 89 YR I, (42.56).
(48.48). (60, 40). (66.33). (78.39)! (u.v) & HF 30
YRR & GRT 9T el 8 Febd R ITetd foid 73, a8
@%@
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A. (42,56)

B. (46, 48)

C. (66, 33)

D. (78,39)

Answer: C::D

O S &

2. U fqenelf 4 arg # eafd bl a1fd &1 9794 & foiv

AT AR B GAPT fosdT| aRj-xy el #

U1 & IR Pl HH B 39 @l 311G I gUl B
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olrls & XA B 3AG Ugell AIG ddT

31 TS & g T Pl 3ATG GERT 31ATG &1
el
A T8a 3G W A 8 eafy i figdr g
3ATE WR AT T8 edfa Pl diadn 3 31196 2t
B. %A= &Y Y YT 31ATG et & HW AfasT
el # 31 15 ot
C. TR Tyt &1 QT Y13l & RARTHAT & B

BT 3TTATH ATYROTEAT 1 I 8
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D. U8et 3FATE W W a3y Y ohars, arg

ﬁwﬁﬁaﬂ%ﬁﬁ%mwlé'@rg&m

off|

Answer: A::D

O dfd &

3. U faeneli 1 #t givyg oI TS & U Il cllcidh
A @R g BT qH AFGEar &1 1 503
{cUdyich dlell Ueh faRTH g8l bl JIPT s d8 20
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A BT T 40 AHUE A Tl &l IWRH Y80l
& faw fg § A SH-a1 (HH-2) BT T8 /82
A.3Tddebld & A9 # T # Jfe AT, 0.05
TP &
B. 3addsTet & A9 B T & Jfe AT, 9603 &
C. g & fefRor & ufaed 3fe 5% 8

D. g & fAerRor & wfderd 3¢ 2.5% &

Answer: A::C

O A&
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